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Absorption and emission of photons as a result of
energy level change of electrons




Electrons inhabit probability distributions.
Heisenberg Uncertainty Principle — You can know
location or direction/speed, but not both.
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Electron Orbital Diagrams

The first two electrons pair The last three elctrons singly occupy the three

up in the 1s orbital 2p orbitals. Th:ag,.r all have the same spin!
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The second two electrons
pair up in the 2s orbital



Hund’s Rule — Electrons will occupy orbitals of equal
energy one at a time with the same spin until each
orbital is occupied. Further electrons then have no

choice but to pair up (with opposite spin).
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Pauli Exclusion Principle — Only electrons of opposite spin
can inhabit the same orbital. This is due to the repulsion
of electrons having the same spin (quantum state)



Which is the only valid orbital diagram and why?
1s 25 2p
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